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Comparing the coefficients of like powers of x,
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We needto evaluate the integral _[—E.:fx
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2x= }i{i| 2+x—x2 |}+,{1

afx
Le. 2x=A|-2x+1 +u
Enquating the coefficients will give the values of A 4

A=-1u=1
Al-2x+1)+
2x Sdr=fECE R
2+xr—x 2+x—x
—1{-2x+1} +1
:I——————E—%ﬂ
2+x—x
—1]-2x+1] 1
=I . 2".‘1“;{‘" 2
24+ xr—x 24+ x—x
2l g
" P24x—=x
_EE;QEX

Txt—x—2|

e

=—log|l24+x—x

2+;r—3f:2

=—log

2

2+x—x

=-log —%log
r—— [+
[ Ej [ j

|x—2|
P x4+

2

=—logl2+x—=x

1
—Zlao
3 4

Indefinite Integrals Ex 19.19 Q7



1-3
Let 7= |—p gy
IS+ dx 4+ 2
i
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Comparing the coefficients of like powers of «,
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Let 7=]—2X*2 gy
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Comparing the coefficients of like powers of 2,
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[3sinx - 2)cosx

S—oostx - dsinx

& (3sinx - 2)cos x
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Fewriing the numerator we have,
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